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class Hamburger {
private int a, b, ¢
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public Hamburger(int a, int b, int c){ this.a=a’ this.b=b; this.c=c:}
public String toString() { return "[a=" + a + ", b="+ b + ", c=" + c + "]} } //&H FA

}

interface HamburgerBuilder {
HamburgerBuilder bed(int a);
HamburgerBuilder cheese(int b);
HamburgerBuilder tomato(int c):
Hamburger build();
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}

class ConcreteHamburgerBuilder implements HamburgerBuilder {

private int a, b, ¢

public HamburgerBuilder bed(int a) {
this.a = a return this;

}

public HamburgerBuilder cheese(int b) {
this.b = b; return this;

}

public HamburgerBuilder tomato(int c) {
this.c = ¢ return this:

}

public Hamburger build() {

Hamburger n = new Hamburger(a, b, c);

}
public class Client{
public static void main(String[] args) {
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return n;

//8H7 82|AF - HEZZHDirector)

HamburgerBuilder hamburgerBuilder = new ConcreteHamburgerBuilder():
Hamburger h1 = hamburgerBuilder.bed(1).cheese(2).build();
Hamburger h2 = hamburgerBuilder.bed(1).cheese(2).tomato(3).build()

System.out.printin(h1); /R4 7{0]| g,

System.out.printin(h2); /R4 7{0]| &,
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class Member { /IEHAEE 71U fh A)
private String name’ /o1&
private String address: /e
private String hobby: /13 0]

public Member(String name, String address, String hobby) { //A4/3%}
this.name = name; this.address = address: this.hobby = hobby:

}

public Member setName(String name) { //3|¥ o5 M4
this.name = name’ return this;

}

public Member setAddress(String address) { //3|¥ *
this.address = address: return this;

}

public Member setHobby(String hobby) { /131 #Ho| 4%
this.hobby = hobby: return this;

}

public void build(){ //21# O|1F, £, HO|E YA &%
Member m = new Member(name, address, hobby);
System.out.printin(m.name + " : " + m.address + ", " + m.hobby);
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}
public class Client {
public static void main(String[] args) {
Member member = new Member("O|&=Al", "S8", "LWEFZ["), /27| BT ZHX| A

Member r1 = member.setName("ZZZt"):

r1.build(); /Y Ao MZ22 22 HE(ZT)

Member r2 = member.setAddress("A]&").setHobby("&3L");

r2.build(); /18E A0 MZ22 22 4-(ZF)

Member r3 = member.setName("E2|H").setAddress("A|-2").setHobby("OFL");

r3.build(); //EE Ao MZ22 22 2E(ZT)
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